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101|R#A7 L 1,167 110{  1,057| Kg |EE 1,404 162| 2 2,484 346
102|357 L 1,436 1,436| Kg BIE 1,593 555
111|&EEF £ 178 178 Kg =40 1,998 324
113|RAV S 85 7 78| Kg |=# 1,944 5 7% 972 626
114|B5EFE 200 200| Kg e 2,970 324
117[14 % 519 69 450 Kg |EE& 1,944 648|FLE 3,996 108
121{hblE € 58 30 28| Kg |EE 648 216| 972 864
134[#= 444 203 201 Keg |FE-EE 2,300 1,000| £ 2,376 1,404
140(5 I 13 13| Kg b 39,600 11,880
147|E2 O 66 66| Kg |EE 16,200 2,700 |87 - il 19,440 6,000
158|EFEA A LS 212 9 203| Kg |@EB 1,404 864|ERE 2,484 540
201{Lvb L 778 778|  Kg JbimE - T 1,404 126
203|/hd L 44 44 Kg 1R 540 324
205|3L8 L 549 549| Kg 4] 828 108
206| = 1F 316 316| Kg 25 821 240
208|m>% 378 378| Kg L 2,268 270
2094 B & LA 229 229| Kg s 929 405
210{1F AL 252 220 32| Kg |RIS 5,400 756|£15 4,050 2,295
212|&5E.3 Y 90 90| Kg we 3,078 1,836
251|< %<3 130 130 Kg |Ei& 3,413
252| VA EECH 92 92 Kg |85 3,294
254|E b ECH 654 121 533| Kg |@A 1,739 1,350|@ % 1,998 1,026
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303[A 27z 24 241 Kg B 900
305|xAah>0b 50 11 391 Kg [&)I 2,160 s 3,564 2,376
306|Le &Y 6 6] Kg R 450

315|7: b5 6 11 111 Kg = I 4,320

3191 h o 255 255 Kg FE 3,024 810
3321 WA =EF 104 104] Kg E2p] 1,836 1,620
3BlHHY 48 28 20 Kg [%E 3,564 2,484 2RI, 16,740 5,184
3541 <Y 8 8 Kg |= 1,620

3/5|HEY) 70 70| Kg timE - P E 1,188 600
356|L LA 13 13| Kg SER 1,080 864
357\ E 17 171 Kg FEE 10,800 945
358| KE Kg A0 1,728

362(m & Kg FE 1,620

401|H W 60 60 Kg Iz & 2,052 1,728
4025 E 35 35 Kg FAN 5,778 3,672
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507|@— L Ly 100 100[ Kg =] 1,080
523| A EARAT 2 O 326 326| Kg =] 5,724 528
54| ARE & 2V 31 31| Kg hE 1,728 1,620
558|# 39 39| Kg b 702
560|472 322 322| Kg deE - fs 3,771 1,400
566|458 < 22 22| Kg b 4,320 2,200
576|4R & 1F 25 25| Kg b 1,250
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70110 BA 1,022 1,022 Kg Ko 3,726 1,836
71019 2 ®HA0F 96 96| Kg = I 837
BlBEFALANIN 10 10 Kg SR 1,998
755(Fd L 135 135 Kg B 864
56| £ 9 13 13 Kg 3 1,500 1,188
7611 b BHAEL 5 5 Kg EE 2,492
801|BHL =T 1,525 1,525 Kg vBE - BEA 2,052 1,134
802|111 145 145 Kg 2Dzl 1,836 1,404
805 = 1E 112 112 Kg bF 1,274 716
810|BAKTF 299 299 Kg JbiF 2,760 1,566
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